KEY

Math 120, 122 Practice Quiz # 14 – Sections 7.4 – 7.5

Solving Equations by Factoring, Division

In problems 1-4, solve each equation by factoring.
1. 6x2 + 3x = 0


x = 0, -1/2
2. x3 – x2 – 16x + 16 = 0

x = -4, 1, 4
3. 4x2 = 9



x = - 3/2, 3/2
4. 4t2 – 12t + 9 = 0


t = 3/2
5. x3 = x



x =  -1,  0, 1
6. The height h of a model rocket launched from the ground to the air is given by the equation h = 16t2 + 80t. Find how long it takes the rocket to reach a height of 96 feet.

One second

In problems 6 – 7, determine the quotient.  
7. 6x5 + 74x4 + 24x3

3x2 + 37x + 12
    2x3
8. 2x2 + 13x + 5


x + 5 – _10_
 2x + 3



2x + 3
In problems 8 – 9 use synthetic division.
9. 3x4 + 5x3 – x2 + x – 2 

3x3 – x2 + x – 1 
      x + 2
10. y3 – 8 



y2 + 2y + 4
y – 2 

11.  A car traveled a distance of 2x2 + 3x – 2 miles in x + 2 hours. 
a. What expression represents the average speed of the car in miles per hour.                   
2x2 + 3x – 2   mph
    



     x + 2
b. Simplify your answer.
 (2x – 1) mph
